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( BART-A: Objective )
Time: 20 mins Marks : 20
Choose the correct answer from the following: 1 x20=20
1. ‘Register’is a =
a. Language variety b. Sociolect
c. Diglossia d. None of the above

1

A child acquiring two languages at the same time in two different contexts is an
example of :

a. Additive Bilingualism b. Coordinate Bilingualism

¢. Sequential Bilingualism d. Balanced Bilingualism

3. Lexicography refers to the :
a. The study of lexemes in a language b. The lexical patterning of a language

c. The science of dictionary making d. The overall study of vocabulary

4. ‘Narrow Diglossia’ refers to

a. Existence of two different languages b. Existence of two dialects of same
in one speech community language in one speech community
¢. Multilingualism d. None of the above

5. A sociolinguistic variable is
a. Fixed social communication b. A variety of sociolect
c. Social variation d. The set of alternative ways of saying
the same thing

6. Which of the following is not a language variety?
a. Pidgin b. Creole
c. Diglossia d. Dialect

7. Who coined the term ‘diglossia’?

a. Charles Ferguson b. Edward Sapir
¢. Ferdinand De Saussure d. Panini
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